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(a) T(n):gn ——n*+=n
® T =2@n +)@An -7+ 7(/n+5) -3
© T.(0=(logn)"+(n)
(d) T,(=8"+n*+(Vn)

© 10 (3Vn+5)(2Vn”~2) 5(Vn+5)(Vn" +5) 2(Vn+5)(n+5)
€ \Nn)= + +
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00000000000000n000000000000Nn=2000000000
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void algoD(int n){
for(i=0;i<n;i++){
for(=0;j<i;j++{
(B# c, FFEDLIE)

}

return;

©@DUODOo T.(n)
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void algoE(int n){
for(i=1;i<n;i=2*i){
(E# c, FEDLE)
}

return;
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void algoF(int n){
if(n<=1){
return;
Yelse{

(BE#¥c, BHREONIE)
algoF(n/2);
algoF(n/2);
return;

}
}
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00000000 pow(intn,double )0 On=200000f(nx)=x"=[[x000000
i=1
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double pow(int n,double x){
double f; /*REFFDOREHIE*/
int i;
= (7 ) /7*9#ie*/
for(i=0;i<n;i++){
T=1*x;
}

retrun T;

ugbbgobooboobogooo
Uimooooooooon
(@ oOooobooooobood T, (mOOoOoDO

3 f(n=x"=[[x00000000000000000000
i=1

double fast _pow(int n,double Xx ) UOOMOOODOOOOOODODOOnODOOO
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void gsort(int left, int right){

int pos;/*000O0*/

if(left>=right){
return;

Yelse{
pos=partition(left,right);
print_array(left,right);
gsort(left,pos-1);
gsort(pos+1,right);

}

OO000partiion D0 00000000000000000000O0O0O Afleft]-A[right]
0000000000000000000000000000000000000000
0000000000000000000000000000000000000000
00000 Alightl0 000D OO0O00OOOO print_array(left,right 0 000 00O
Alleft]-A[right]0 0000000000
00000000000000000000000000

OO0 printarray0 000000000000 ODOOOOOOO
000 n=right-left 00 Opartition 0000000 T (nODO0O0D00O0O0O0OOOO0O

0T,mMmO0000000T,mMO00000000000000000000000
00000 print_array 0 T,()000D00000000000000

T (n) = c(@ODb n<0
a7 \(right, left,posD0 0000000 n>0
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int linear_search(double key,int n,double A[]){

int i=0;
A[n]1=C 7 ); /*BEDETE */
while(key!=A[iD{

i++;
bs
if(i==n){

return -1; /*key [LE2% A ITHFEELGZL/

}else{

retrun ( 4 ); /*key [XE2FHI A [CTFEHET D>/
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